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CO2(gas)+ H2O !=CO2(aq)+H2O ! ! KH=10-1.5 (mol/L/atm)!
CO2(aq)+H2O !=H++ HCO3

- ! ! K1=10-6.3 (mol/L)!
HCO3

- !=H++ CO3
2- ! !  K2=10-10.3 (mol/L)!

CaCO3����� ! ! ! ! Ksp=10-8.3 mol2/L2!

13CO2(g)+12CO2(aq) !=12CO2(g)+ 13CO2(aq) !K0�=(13C/12C)CO2(aq)/(13C/12C)CO2(g)=1.000!
13CO2(g)+H12CO3

- !=12CO2(g)+ H13CO3
- !K1�=(13C/12C)HCO3

- /(13C/12C)CO2(g) =1.009!
13CO2(g)+12CO3

2-
 !=12CO2(g)+13CO3

2- !K2�=(13C/12C)CO3
2- /(13C/12C)CO2(g) =1.008!
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CaSiO3+CO2$
→CaCO3+SiO2$
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Ca ć�ïğġ$ Ca ć�ïğġ!

Ġ¹ğġ7 CO3
2- \�(Ca2+)V�ÃV¸�! ! ! ! !

! !...(Lemarchand et al., 2004)!
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